

# An Algebraic Proof of the Fundamental Theorem of Algebra

Ruben Puente

Departamento de Matemáticas  
Univ. Nacional de San Luis  
Ejército de los Andes 950  
5700-San Luis, Argentina

Copyright © 2017 Ruben Puente. This article is distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

*Dedicated to Lic. Jessica Páez, my kinesiologist, by her unconditional support.*

## Abstract

We prove the fundamental theorem of algebra (FTA on brief) by using linear algebra. The proof which arises from a new equivalent reformulation of FTA also works for any infinite field, having root for all polynomials of degree 2, and thus, sufficient condition for that field being algebraically closed.

**Mathematics Subject Classification:** 12D05, 12E05

**Keywords:** root of complex polynomial; algebraically closed field

## 1. INTRODUCTION

Many proofs of FTA have been proposed from the 18th century until today, e. g., [3], [4], among the most recent ones. The proof presented in this paper only uses linear algebra together with some basic concepts of general algebra or affine geometry (see, e.g., [7],[5], or [2],[6]), being therefore appropriate for undergraduate students.

Let us now introduce the necessary notation. We represent by  $\mathbb{Z}^+$ ,  $\mathbb{Q}$ ,  $\mathbb{R}$  and  $\mathbb{C}$  the sets of positive integers, rationals, real and complex numbers, respectively. We denote by  $\mathbb{C}[x]$  the ring of polynomials and by  $\mathcal{P}_n(\mathbb{C})$  the space of all polynomials of degree at most  $n \in \mathbb{Z}^+$ , with coefficients in  $\mathbb{C}$ . The degree of

$p(x) \in \mathbb{C}[x]$  is denoted by  $\deg(p(x))$  and the linear hull of a set  $A \subset \mathcal{P}_n(\mathbb{C})$  by  $\text{span}(A)$ , and by  $\text{aff}(A)$ , the affine hull of  $A$ . By  $\pi p(x)$  we denote the projection of  $p(x) \in \mathcal{P}_n(\mathbb{C})$  on some coordinate subspace, depending on context. Linearly independent, on brief, l.i. and, without loss of generality, by wlog.

We will work always with finite dimensional linear spaces (a comparison may be seen in, Finite Versus Infinite Dimensions, [1]). In particular,  $\mathcal{P}_n(\mathbb{C})$ , equipped with the ordered basis  $\langle x, x^2, \dots, x^n, 1 \rangle$ .

**Definition 1.1.** For any  $a \in \mathbb{C}$ , let  $A_a^n := \{p(x) \in \mathcal{P}_n(\mathbb{C}) \mid p(a) = 0\}$ .

For all  $a \in \mathbb{C}$ ,  $A_a^n \subset \mathcal{P}_n(\mathbb{C})$ , is a subspace,  $n$ -dimensional (an hyperplane). We denote by  $\mathcal{A}_n := \bigcup_{a \in \mathbb{C}} A_a^n$ .

We describe the family  $\mathcal{A}_n$  on more useful way. First off

$$(1.1) \quad B_w^n := \{(1/w^{m-1})x^m - w \mid 1 \leq m \leq n\} \subset A_w^n,$$

since these  $n$  vectors in  $B_w^n$  are l.i., it is clear that,  $\text{span}(B_w^n) = A_w^n$ .

The keynote is the following equivalent reformulation of FTA, which puts the problem on the area of affine geometry.

**Theorem 1.2** (FTA). For any  $n \in \mathbb{Z}^+$ ,  $\mathcal{P}_n(\mathbb{C}) = \text{span}(1) \cup \mathcal{A}_n$ .

**Lemma 1.3.** On an infinite field  $F$ ,  $r(x) \in F[x]$  of  $\deg(r(x)) \geq 2$ ,  $r(x) = \sum_{m=0}^n r_m x^m$ , is transformed by a variable change, for some  $a \in F$ , on  $s(y) = \sum_{m=0}^n s_m y^m \in F[y]$ , for that both  $s_1 \neq 0$  and  $s_2 \neq 0$  by the change  $x = y + a$ .

*Proof.* (i) The two interesting, coefficient, after the change, remain

$$s_1 = \sum_{m=1}^n m r_m a^{m-1} \quad , \quad s_2 = \sum_{m=2}^n \binom{m}{2} r_m a^{m-2}.$$

We can see  $s_1 = (r_1, 2r_2, \dots, nr_n) \bullet (1, a, a^2, \dots, a^{n-1})$  as a bilinear product,  $F^n \times F^n \rightarrow F$ . Analogously for  $s_2$ , but on  $(n-1)$  dimension. Taking a suit of  $n$  distinct values for  $a$ , the  $n$  resulting vectors are l.i. ( $n \times n$  Vandermonde determinant), and thus, can not be always  $s_1 = 0$ , being  $r(x) \neq 0$ . Let  $\alpha_1^1$  be the value of  $a$  for which  $s_1 \neq 0$ . Now we choose another suit of  $n$  values for  $a$ , distinct between them and also distinct of the previous, and let  $\alpha_1^2$  the value that produces the inequality. Repeating the procedure  $(n-1)$  times, we obtain  $(n-1)$  distinct values,  $\{\alpha_1^m \mid m = 1, \dots, n-1\}$ , whichever results  $s_1 \neq 0$ . Now, using these  $(n-1)$  values for the product on  $s_2$ , for at least one of them,  $s_2 \neq 0$  (again by Vandermonde determinant, but now  $(n-1) \times (n-1)$ ). Therefore, there is  $a \in F$  such that both,  $s_1 \neq 0$  and  $s_2 \neq 0$  simultaneously.  $\square$

## 2. THE FUNDAMENTAL THEOREM

**Theorem 2.1.** Each  $r(x) \in \mathbb{C}[x]$ ,  $\deg(r(x)) \geq 1$ , has one root in  $\mathbb{C}$ .

*Proof.* For  $n = 1$  it is trivial and for  $n = 2$  it is well known. Suppose  $r(x)$ , with  $\deg(r(x)) = n \geq 3$ , without any root in  $\mathbb{C}$  and  $r_j \neq 0$ , for  $j = 0, 1, 2, n$ . (wlog. by lemma 1.3). Let be,  $R := \text{span}(r(x)) \subset \mathcal{P}_n(\mathbb{C})$ , it is clear that all

polynomials in  $R$  does not have any root in  $\mathbb{C}$ , neither.

Because  $r(x) \notin \text{span}(\{x^m \mid 1 \leq m \leq n\})$  (since  $r_0 \neq 0$ ), for each  $z \in (\mathbb{C} \setminus \{0\})$ , there is a unique  $q_z \in R \cap (\text{span}(\{x^m \mid 1 \leq m \leq n\}) + z)$ .

Moreover,  $q_z \notin (\text{span}(\{x^m \mid 0 \leq m \leq n, m \neq 1\}) + 1)$ , except for one  $z$ , that **we denote** by  $\zeta \in \mathbb{C} \setminus \{0\}$ , because the linear 1-dimensional subspace  $R$  cross once this affine subspace (since  $r_1 \neq 0$ ).

On the projection of the slices  $\pi(\text{span}(\{x^m \mid 1 \leq m \leq n\}) + z)$ , over the coordinates hyperplane  $\text{span}(\{x^m \mid 1 \leq m \leq n\})$ , we observe, besides  $\pi q_z$ , the following projections of points from  $B_w^n$  (see (1.1)), the point  $x$  and a set of points in the coordinates axes, in particular, covering whole the  $(\text{span}((x^2) \setminus \{0\}))$  axis, because the coefficient function of  $x^2$ ,  $1/w$  is onto over  $\mathbb{C} \setminus \{0\}$ . Now projecting again, over the  $(\text{span}(x, x^2))$  plane, for each  $z \in (\mathbb{C} \setminus \{0, \zeta\})$  there is a unique  $p x^2$  ( $p \neq 0$ ) (into this plane), which corresponds to the  $w \in (\mathbb{C} \setminus \{0\})$ , such that  $1/w = p$ , all that because  $r_1 \neq 0$ ,  $r_2 \neq 0$  and  $z \neq \zeta$ . Thus,  $p x^2 \in \text{aff}(x, \pi q_z(x))$ , also,  $\pi q_z(x) \in \text{aff}(\{(1/w^{m-1} x^m \mid 1 \leq m \leq n\})$  at 0 level. We want to work on the same level of either,  $q_z$  and  $((x^m/w^{m-1}) - w)$ . For that, it should be

$$(2.1) \quad -w = z \quad .$$

By the following lemma 2.2, there is a that  $\bar{z}$ , then  $\pi q_{\bar{z}} \in \text{aff}(x + \bar{z}, p x^2 + \bar{z}) \subset A_{-\bar{z}}$ . In general, if  $\pi R \not\parallel \text{aff}(p^{2j-1} x^{2j}, p^{2j-2} x^{2j-1})$ , there are  $z_j \in \mathbb{C}$  for  $j = 1, \dots, n/2$ , ( $z_1 = \bar{z}$ ) such that

$$(2.2) \quad \begin{aligned} \pi q_{z_j} \in \text{aff}(p^{2j-1} x^{2j} + z_j, p^{2j-2} x^{2j-1} + z_j) \subset A_{-z_j} &\Rightarrow \\ (j s)(w_j) = 0 \quad \wedge \quad w_j = 1/p^{2j-1} \quad \wedge \quad z_j = -w_j = \bar{z}/p^{2j-2} . \end{aligned}$$

The other case,  $\pi R \parallel \text{aff}(p^{2j-1} x^{2j}, p^{2j-2} x^{2j-1})$ . That is,  $r_{2j} x^{2j} + r_{2j-1} x^{2j-1} \parallel \text{aff}(p^{2j-1} x^{2j}, p^{2j-2} x^{2j-1})$ , which implies,  $(r_{2j} = \alpha p^{2j-1} \wedge r_{2j-1} = -\alpha p^{2j-2})$  then  $r_{2j} = -p r_{2j-1}$ . But we can suppose, wlog. (by a variable change  $x = ay$ ),  $r_{2j} \neq -p r_{2j-1}$  for  $j = 1, \dots, n/2$ . Therefore, all equations on (2.2) are true.

On other hand the polynomial  $(j s)(x)$  made with the pair of coefficients  $(2j, 2j - 1)$  of  $q_{z_j}$ , verifies  $(j s)(x) + 2z_j \in A_{-z_j}$ , also  $\pi(j s) = \pi(q_{z_j})$  for these two coefficients. Therefore,

$$\begin{aligned} (j s)(w_k) + 2z_k &= (z_j/r_0)(r_{2j}(w_k)^{2j} + r_{2j-1}(w_k)^{2j-1}) + 2z_k \\ &= (z_j/r_0)(r_{2j}(1/p)^{2j(2k-1)} + r_{2j-1}(1/p)^{(2j-1)(2k-1)}) + 2(1/p)^{2k-2}\bar{z} \\ &= (1/p)^{2k-1}((z_j/r_0)(r_{2j}(1/p)^{2j} + r_{2j-1}(1/p)^{(2j-1)}) + 2p\bar{z}) \\ &= (1/p)^{2k-1}((j s)(1/p) + 2p\bar{z}) \\ &= (1/p)^{2k-1}((j s)(w_1) + 2pz_1) , \end{aligned}$$

in particular, if  $j = k$ , for  $j = 1, \dots, n/2$ ,

$$(2.3) \quad (j s)(w_j) + 2z_j = (1/p)^{2j-1}((j s)(w_1) + 2pz_1) .$$

Moreover,

$$\begin{aligned} \sum_{j=1}^{n/2} ((^j s)(x) + 2z_j) &= \sum_{j=1}^{n/2} ((z_j/r_0)(r_{2j}x^{2j} + r_{2j-1}x^{2j-1}) + 2z_j) \\ &= (\bar{z}/p^2 r_0) \sum_{j=1}^{n/2} p^{2j} (r_{2j}x^{2j} + r_{2j-1}x^{2j-1}) + 2 \sum_{j=1}^{n/2} z_j. \end{aligned}$$

Let be  $z^* := 2p \sum_{j=1}^{n/2} z_j$ . If we modify  $r(x)$  by the change  $x = py$ , the coefficients of  $a(y) := (z^*/pr_0)r(py)$ , remain  $a_m = z^* p^{m-1} r_m/r_0$ , for  $m = 1, \dots, n$ ,  $a_0 = z^*/p$ , thus

$$\begin{aligned} a(y) &= \sum_{j=1}^{n/2} z^* (r_{2j}/r_0) y^{2j} + (r_{2j-1}/r_0) y^{2j-1} + z^*/p \\ &= \sum_{j=1}^{n/2} (z^*/z_j) (^j s)(y) + 2z_j. \end{aligned}$$

Therefore, by using also (2.3),

$$\begin{aligned} (2.4) \quad a(w_k) &= \sum_{j=1}^{n/2} (z^*/z_j) (^j s)(w_k) + 2z_j \\ &= \sum_{j=1}^{n/2} (z^*/z_j) (1/p)^{2j-1} ((^j s)(w_1) + 2pz_1). \end{aligned}$$

This is a contradiction, because replacing  $r(x)$  by  $\alpha r(x)$ , for any  $\alpha$  such that  $0 \neq \alpha \neq 1$ , all terms on (2.4) stay equal, whereas  $\alpha r(pw_k) \neq r(pw_k)$ , otherwise  $r(pw_k) = 0$ , in contradiccion as well.  $\square$

**Lemma 2.2** (relationship  $w \sim z$ ). *Let be  $f : \mathbb{C} \setminus \{0, \zeta\} \rightarrow \mathbb{C}$  the function on the TFA proof, such that,  $w = f(z)$ . If all polynomials of degree 2 have a root in the field, then there exists  $\bar{z}$ , such that,  $f(\bar{z}) = -\bar{z}$ , and also,  $0 \neq (\bar{z}) \neq \zeta$ .*

*Proof.* First of we expres  $q_z(x)$  on coordinates,  $R = \{\lambda(\sum_{m=0}^n r_m x^m)\}$ ,  $\lambda \in \mathbb{C}$ , then  $q_z(x) = \sum_{m=0}^n \lambda r_m x^m$ , and,  $q_z(x) = \sum_{m=0}^n (r_m/r_0) z$ . When  $z = \lambda r_0 = \zeta$ ,  $\lambda = \zeta/r_0$ , and by using  $\pi q_\zeta \in (\text{span}(x^n) + 1)$ ,

$$(2.5) \quad \zeta = r_0/r_1.$$

Also,  $q_z(x) = \sum_{m=0}^n z(r_m/r_0) x^m$ .

Now the proof. On the coordinates plane,  $\text{span}\{x, x^2\}$ , consider the non homogeneous linear equations of a right line  $L$ ,  $A_1 u_1 + A_2 u_2 = 1$ . Since  $L$  cross  $(1, 0)$ , then  $A_1 = 1$ , likewise cross  $\pi q_{\lambda r_0} = z(r_1/r_0, r_2/r_0)$ ,

$$(zr_1/r_0) + zA_2 r_2/r_0 = 1 \quad \Rightarrow \quad A_2 = (1/zr_2)(r_0 - r_1 z),$$

moreover, because  $L$  cross  $(0, p)$  too,  $A_2 = 1/p$ . And, by using (2.5),  $1/p = (r_1/zr_2)(\zeta - z)$ . To finish, since  $1/p = w$ , it remains explicit,

$$(2.6) \quad \underline{\text{relationship } w \sim z} : \quad w = (r_1/zr_2)(\zeta - z) \quad .$$

Furthermore, we want  $-w = z$  (see equation (2.1)), replacing  $z = \bar{z}$ , and also,  $w = -\bar{z}$ , the relation (2.6) is rewritten, as,

$$(2.7) \quad (\bar{z})^2 - (r_1/r_2)\bar{z} + (r_0/r_2) = 0,$$

by hypothesis, it has solution. Therefore there is a pair  $(\bar{z}, w)$ , on the relationship (2.6) such that,  $-w = \bar{z}$ , and also  $\bar{z} \neq \zeta$ , because, if were  $\bar{z} = \zeta$ , then  $\bar{z} = 0$ , by (2.6), thus,  $0 = \zeta = r_0/r_1$ , but,  $r_0 \neq 0$ . Neither, can be  $(\bar{z}) = 0$ , since  $\zeta r_1 = r_0 \neq 0$ .  $\square$

In fact, we have proven a new result.

**Theorem 2.3.** *An infinite field, is algebraically closed if, and only if, all polynomials of degree 2 have a root in the field.*

### 3. FINAL REMARKS

The Cauchy completeness results irrelevant on our proof. Both fields  $\mathbb{Q}$  and  $\mathbb{R}$  fail because they lack of many square roots. In fact an ordered field  $F$  can not be algebraically closed, since necessarily  $\sqrt[3]{-1} \notin F$ . The interesting example is the field of, algebraic on  $\mathbb{Q}$ , complex numbers, which passes our proof.

On  $\mathbb{Z}_2[x]$ , the conclusion of lemma 1.3 fails, e. g., for the polynomial  $x^3 + x^2 + 1$ , which do not pass the first paragraph on our proof.

**Acknowledgements.** Thanks to Miguel Angel Goberna Torrent for his suggestions.

### REFERENCES

- [1] J. M. Borwein and A. S. Lewis, Postscript: Infinite Versus Finite Dimensions, Chapter 9 in *Convex Analysis and Nonlinear Optimization. Theory and Examples*, Springer, New York, 2000. [https://doi.org/10.1007/978-1-4757-9859-3\\_9](https://doi.org/10.1007/978-1-4757-9859-3_9)
- [2] A. Bronsted, Convex Sets, Chapter 1 in *An Introduction to Convex Polytopes*, Graduate Texts in Mathematics, Vol. 90, Reprint of the 1983 Original, Springer, New York, Heidelberg, Berlin, 1998. [https://doi.org/10.1007/978-1-4612-1148-8\\_2](https://doi.org/10.1007/978-1-4612-1148-8_2)
- [3] H. Derksen, The fundamental theorem of algebra and linear algebra, *Amer. Math. Monthly*, **110** (2003), no. 7, 620-623. <https://doi.org/10.2307/3647746>
- [4] M. Eiserman, The fundamental theorem of algebra made effective: An elementary real-algebraic proof via Sturm chains, *Amer. Math. Monthly*, **119** (2012), no. 9, 715-752. <https://doi.org/10.4169/amer.math.monthly.119.09.715>
- [5] M. A. Goberna, V. Jornet, R. Puente and M. Rodríguez, *Algebra y Fundamentos. Una Introducción*, Ariel, Barcelona, 2000.
- [6] M.A. Goberna V. Jornet and R. Puente, *Optimización Lineal. Teoría, Métodos y Modelos*, Mc Graw Hill, Madrid, Buenos Aires, 2004.
- [7] S. MacLane and G. Birkhoff, *Algebra*, Third ed., AMS Chelsea, Providence, Rhode Island, 1999.

**Received: August 23, 2017; Published: November 9, 2017**